

TO: Brian Lenhart

Systems Administrator City of Columbus 1111 E Broad St Columbus, OH 43205 FROM: OARnet

1224 Kinnear Rd Columbus, OH 43212

EMAIL: bslenhart@columbus.gov

EMAIL:

oarnetvmware@oar.net WEB: www.oar.net

PHONE: (614) 645-0373

FAX:

FAX: (614) 292-9397

TERMS: OARnet-VMware ELA

Remit to: The Ohio State University

Accounts Receivable

QUOTE NO: 38775924
QUOTE DATE: 10/17/2023
QUOTE EXPIRES: 11/16/2023

PO Box 182905, Columbus, Ohio 43218-2905 Payment Terms: Net 30 Credit Cards: VISA/MasterCard/AMEX/DISCOVER (2.75% processing fee)			TOTAL QUOTE:			\$496,142.62	
LINE NO.	PRODUCT SKU	DESCRIPTION	PRODUCT PRICE	CO-TERM COST	QTY	SUBTOTAL	
1	VCS8-STD-P-SSS-C	Production Support/Subscription VMware vCenter Server 8 Standard for vSphere 8 (Per Instance) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 30708214	\$802.75	\$802.75	1	\$802.75	
2	VS8-EPL-P-SSS-C	Production Support/Subscription for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 30708214	\$513.50	\$513.50	24	\$12,324.00	
3	VS8-EPL-P-SSS-C	Production Support/Subscription for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 30825626	\$513.50	\$513.50	20	\$10,270.00	
4	VS8-EPL-P-SSS-C	Production Support/Subscription for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 31024146	\$513.50	\$513.50	4	\$2,054.00	
5	VS8-EPL-P-SSS-C	Production Support/Subscription for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 31050837	\$513.50	\$513.50	2	\$1,027.00	
6	VS8-EPL-P-SSS-C	Production Support/Subscription for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 31142999	\$513.50	\$513.50	8	\$4,108.00	
7	VS8-EPL-P-SSS-C	Production Support/Subscription	\$513.50	\$513.50	24	\$12,324.00	

CONFIDENTIAL

PAGE 1 of 6

for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 38079575

> QUOTE DATE: QUOTE NO:

10/17/2023 38775924

LINE NO.	PRODUCT SKU	DESCRIPTION	PRODUCT PRICE	CO-TERM COST	QTY	SUBTOTA
8	VS8-EPL-P-SSS-C	Production Support/Subscription for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 310859231	\$513.50	\$513.50	16	\$8,216.00
9	VS8-EPL-P-SSS-C	Production Support/Subscription for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 310867665	\$513.50	\$513.50	8	\$4,108.00
10	VS8-EPL-P-SSS-C	Production Support/Subscription for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 315889138	\$513.50	\$513.50	16	\$8,216.00
11	VCS8-STD-P-SSS-C	Production Support/Subscription VMware vCenter Server 8 Standard for vSphere 8 (Per Instance) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 321946291	\$802.75	\$802.75	1	\$802.75
12	ST8-STD-P-SSS-C	Production Support/Subscription for VMware vSAN 8 Standard for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 342943741	\$366.60	\$366.60	12	\$4,399.20
13	VCS8-STD-P-SSS-C	Production Support/Subscription VMware vCenter Server 8 Standard for vSphere 8 (Per Instance) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 343448166	\$802.75	\$802.75	2	\$1,605.50
14	ST8-STD-P-SSS-C	Production Support/Subscription for VMware vSAN 8 Standard for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 343448166	\$366.60	\$366.60	4	\$1,466.40
15	NX-DC-ADV-P-SSS- C	Production Support/Subscription for VMware NSX Data Center Advanced per Processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026	\$678.60	\$678.60	32	\$21,715.20
16	VR19-STD-P-SSS-C	Contract #: 370886691 Production Support/Subscription for VMware vRealize Suite 2019 Standard (Per PLU) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 370886691	\$519.35	\$519.35	32	\$16,619.20
17	VR19-ENT-P-SSS-C	Production Support/Subscription for VMware vRealize Suite 2019 Enterprise (Per PLU) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 370886691	\$1,156.35	\$1,156.35	82	\$94,820.70



LINE NO.	PRODUCT SKU	DESCRIPTION	PRODUCT PRICE	CO-TERM COST	QTY	SUBTOTAL
18	NX-DC-EPL-P-SSS- C	Production Support/Subscription for VMware NSX Data Center Enterprise Plus per Processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 370886691	\$1,049.10	\$1,049.10	82	\$86,026.20
19	CF4-SDDCM-VS-P- SSS-C	Production Support/Subscription for VMware SDDC Manager 4 for vSAN (Per CPU) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 370886691	\$189.80	\$189.80	114	\$21,637.20
20	VRNI6-ENTAD- NXEPLP-P-SSS-C	Production Support/Subscription for VMWare vRealize Network Insight 6 Enterprise Add-on to VMware NSX DC Enterprise Plus or NSX-T Enterprise Plus (Per Processor) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 370886691	\$208.00	\$208.00	82	\$17,056.00
21	VRNI6-ADV-CPU-P- SSS-C	Production Support/Subscription for VMware vRealize Network Insight 6 Advanced (per CPU) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 370886691	\$168.35	\$168.35	32	\$5,387.20
22	ST8-ENT-P-SSS-C	Production Support/Subscription for VMware vSAN 8 Enterprise for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 370886691	\$865.15	\$865.15	66	\$57,099.90
23	NX-DC-ADV-P-SSS- C	Production Support/Subscription for VMware NSX Data Center Advanced per Processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026	\$678.60	\$678.60	6	\$4,071.60
24	VR19-STD-P-SSS-C	Contract #: 374020749 Production Support/Subscription for VMware vRealize Suite 2019 Standard (Per PLU) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 374020749	\$519.35	\$519.35	6	\$3,116.10
25	CF4-SDDCM-VS-P- SSS-C	Production Support/Subscription for VMware SDDC Manager 4 for vSAN (Per CPU) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 374020749	\$189.80	\$189.80	6	\$1,138.80
26	VRNI6-ADV-CPU-P- SSS-C	Production Support/Subscription for VMware vRealize Network Insight 6 Advanced (per CPU) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 374020749	\$168.35	\$168.35	6	\$1,010.10



LINE NO.	PRODUCT SKU	DESCRIPTION	PRODUCT PRICE	CO-TERM COST	QTY	SUBTOTA
27	ST8-ADV-P-SSS-C	Production Support/Subscription for VMware vSAN 8 Advanced for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026 Contract #: 374020749	\$588.25	\$588.25	6	\$3,529.50
28	NX-DC-EPL-AD-P- SSS-C	Production Support/Subscription for VMWare vRealize Network Insight Enterprise Add-on to VMware NSX Data Center Enterprise Plus (Per Processor) for 1 year Start Date: 04/02/2025	\$117.65	\$117.65	4	\$470.60
29	NSX-T-EPL-P-SSS- C	End Date: 04/01/2026 Production Support/Subscription for VMware NSX-T Enterprise Plus per Processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026	\$1,104.35	\$1,104.35	4	\$4,417.40
30	CF4-SDDCM-VS-P- SSS-C	Production Support/Subscription for VMware SDDC Manager 4 for vSAN (Per CPU) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026	\$189.80	\$189.80	4	\$759.20
31	VR19-ENT-P-SSS-C	Production Support/Subscription for VMware vRealize Suite 2019 Enterprise (Per PLU) for 1 year Start Date: 04/02/2025 End Date: 04/01/2026	\$1,156.35	\$1,156.35	4	\$4,625.40
32	VS8-EPL-P-SSS-C	Production Support/Subscription for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026	\$513.50	\$513.50	4	\$2,054.00
33	ST7-ENT-P-SSS-C	Production Support/Subscription for VMware vSAN 7 Enterprise for 1 processor for 1 year Start Date: 04/02/2025 End Date: 04/01/2026	\$786.50	\$786.50	4	\$3,146.00
34	ST7-ADV-DT-P- SSS-C	Production Support/Subscription for VMware vSAN 7 Advanced per Concurrent User for 1 year This line is for 227 days of support Start Date: 08/18/2025 End Date: 04/01/2026 Contract #: 375840874	\$16.90	\$10.51	900	\$9,459.00
35	FUS-PRO-P-SSS-C	Production Support/Subscription for VMware Fusion Pro for 1 year This line is for 227 days of support Start Date: 08/18/2025 End Date: 04/01/2026 Contract #: 375840874	\$25.87	\$16.09	900	\$14,481.00
36	NX-ALB-SC-P-SSS- C	Production Support/Subscription for VMware NSX Advanced Load Balancer per Service Core for 1 year This line is for 227 days of support Start Date: 08/18/2025 End Date: 04/01/2026 Contract #: 375840874	\$2,209.35	\$1,374.03	4	\$5,496.12



1224 Kinnear Road Columbus, Ohio 43212 • Phone: (614) 292-9191 • Fax: (614) 292-9397 • www.oar.net LINE NO. **PRODUCT SKU DESCRIPTION PRODUCT PRICE CO-TERM COST** QTY **SUBTOTAL** 37 VRNI6-ADV-CPU-P-Production Support/Subscription \$168.35 \$104.70 28 \$2,931.60 SSS-C for VMware vRealize Network Insight 6 Advanced (per CPU) for 1 year This line is for 227 days of support Start Date: 08/18/2025 End Date: 04/01/2026 Contract #: 375840874 38 NX-DC-ADV-P-SSS-Production Support/Subscription \$678.60 \$422.03 28 \$11.816.84 for VMware NSX Data Center Advanced per Processor for 1 year This line is for 227 days of support Start Date: 08/18/2025 End Date: 04/01/2026 Contract #: 375840874 CF4-SDDCM-VS-P-39 Production Support/Subscription \$189.80 \$118.04 28 \$3,305.12 SSS-C for VMware SDDC Manager 4 for vSAN (Per CPU) for 1 year This line is for 227 days of support Start Date: 08/18/2025 End Date: 04/01/2026 Contract #: 375840874 VR19-STD-P-SSS-C 40 Production Support/Subscription \$519.35 \$322.99 28 \$9,043.72 for VMware vRealize Suite 2019 Standard (Per PLU) for 1 year This line is for 227 days of support Start Date: 08/18/2025 End Date: 04/01/2026 Contract #: 375840874 VS8-EPL-P-SSS-C 41 Production Support/Subscription 28 \$513.50 \$319.35 \$8,941.80 for VMware vSphere 8 Enterprise Plus for 1 processor for 1 year This line is for 227 days of support Start Date: 08/18/2025 End Date: 04/01/2026 Contract #: 375840874 42 ST8-ADV-P-SSS-C Production Support/Subscription \$588.25 \$365.84 28 \$10.243.52 for VMware vSAN 8 Advanced for 1 processor for 1 year This line is for 227 days of support Start Date: 08/18/2025 End Date: 04/01/2026 Contract #: 375840874

Please note, pricing is subject to change. This quote reflects current pricing and is valid through the above expiration date. Prior to submitting a PO, ensure this quote has not expired. If the quote has expired, please request a refreshed quote.

SUBTOTAL:

TOTAL QUOTE: \$496,142.62

\$496,142.62

LINE NO. PRODUCT SKU DESCRIPTION PRODUCT PRICE CO-TERM COST QTY SUBTOTAL

TO ORDER: Submit a copy of this quote along with your PO to: oarnetvmware@oar.net. Quote number should be referenced on your Purchase Order. This renewal extends the original terms and conditions agreed to at the time of initial purchase.

Budgetary Pricing - Contingent on the purchase of Quote 38775912